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1. POKVGT) Py & gnian ) Py 2K, HRE X,
(1

P=100kN

P =P xcos45” =100kN x cos45" = 70.7kN

Py P = P xsind5° = 100N x sin45° = 70.7kN

> >X
(2)
P=50kN yi
P =-P xcos60° =50kN x cos60° = -25kN
By P, = P xsin60° = SOKN x sin60° = 43 3kN
x 60°
<ZP P X
(3)
y
Px
— >—>X P =P xcos30° = 40kN x cos30° = 34.6kN
P P, =-P xsin30" = 40kN x sin30° = —20kN
y

P=40kN

!

2. 15IEAT22o0 /P PaOE TR EFDHN O kD, Hrd L.

(1)
P, =P, xc0s30° = 50kN x cos30" = 43.3kN

y
R PIZSOkN Ply = P1 X Sin 300 = SOkN X sin 300 = 25kN
0 =56. 3°>\ 30° ) SH =P, - P, =433kN - 60kN = -16.7kN
P60kN 2V =B, =25kN
SEHFOER LY
R=~(CH)? + (TV)* =~/(-16.7)> + (25)* = 30.1kN

0= tan'l(%) = tan'l(%) =-56.3°
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(2)
y P, =P, xc0s30° = 50kN x cos30" = 43.3kN

P.=50kN P, = P, xsin30" = 50kN xsin30° = 25kN

x SH = P, =43 .3kN
2V =P - P, =25kN - 60kN = -35kN
ST HOERL Y
R=+/(ZH)’ + (ZV)* =+/(43.3)" + (-25)* =55.7kN
. VEH)Y +(ZV) =~(433)" +(-25)

Vv 0= tan'l(&) = tan'](ﬁ) =-38.9°
>H

433

(3)

P=60kN P, =P, xcos30° =50kN x cos30° = 43.3kN

P, =-P, xsin30° = -50kN x sin30" = -25kN

P, =—-P, xcos60° = —60kN x cos60° = =30kN
P, =P, xsin60" = 60kN x sin60" = 52kN

3H =P, - P, =43.3kN -30kN =13.3kN

XV =-P + P, =-25kN + 52kN = 27kN

=W OFEHLY

R=~/(SH)> + (ZV)* =~/(13.3)* + (27)* = 30.1kN

6 =tan™ &) = tan"'(2—7) =63.8°
>H 13.3

3. 1EIHEATA3OD NP1, Py, PsOE L ZFDHMHAE) ZRKD, XrH k.

(1)
Y —H 1V
P=50kN P, | P1cos30°=43.3kN | P,sin30°=25kN
P 2 -P2 :-60kN O
P-=60kN 30° .
- : P, 0 -P,=-40kN
0*4L%{ > H=-16.7kN —_15kN
P:=40kN =“SEHFOEBELIY
v

R=A(ZH)’ +(ZV)* =/(-16.7)* + (=15)> = 22 4kN

6 =tan™ 2V tan‘l(_—ls) =419°
>H -16.7
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—H v
P, P,=50kN 0
P, | -P,cos60°=-30kN [ P,sin60°=52kN
P; | -P3c0560°=-20kN (-P;5in60°=-34.6kN
s b H=0kN V=17.4kN

S HOERE D
R=~(CH)> + (ZV)* =~/(0)* + (17.4)> =17.4kN

0= tan‘l(%) = tan‘l(—170'4) =X

4. NP oML yIimosy 74K K.

@) | FEREEE L Y
P_V' _ Px' _ P
sin30° sinl5°  sinl35°

xsin30° = >0 xsin30° =354kN

Y

" sinl35° sinl35°
P = P xsinls’ = x sinl5° =18.3kN
' sin135° sin135°
ETEEH LY
P, P, P

sin30° - sin105° - sin45°
xsin30° = 35.5kN

P, = .P - xsin30° = — -
sin45 sin45

P, = P x8inl105° =

. o . o

sin45 sin45

x sin105° = 68 .3kN




